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1. 1]тшпцт[р1д[п
1 107 060

1 82з 1099 2тпчпгштл' рБт!тп\тп1: шц Бтптл 20000 2 40 000

1 82з 1 099 2ш:чпгштп, р|, т|тш\ш:1: шц Бтлт.п 25000 25 000

| 8200000 0\ш:ъ|Ё,!ц х х х х 65 000

18451100 !п6гп110!р шц Бтптп 380 5 1 900

1 845 1 300 9[цтпш!,ц шц шпф 400 2 800

1 845 1 300 пьч}т[ }тш:чпгшшт[: шц }ттптл 250 4 ] 000

! 845 1 300 пьч[ть Бтшчптштп}: шц Бтцъп \10 10 ! 700

| 845 1400 6цртп Бтпчпьштп}: шц т[Бтпр 1 300 ) 3 900

1 845 1 300 Фш:чтшт|Ё1: шш т|Ё,ъпр 500 5 2 500

1 845 1400 5]тшт1тл шц т[Ё,тпр ! 000 5 5 000

1 8400000 0[1тшт{[!р х х х х 16 800

18811160 9п2}т\[Бр шц чп1]ч 3000 6 |8 000

!8811200 1/тпш}т\ шц чп|]ч | 700 !0 17 000

1 8800000 0!тцтшт[Б1-тц х х х х 35 000

1 92 1 0000 9ш:пр!Б, р (чпрБт|ш:6р[Бр) шц цРц1! ! 58000 ! 158 000

19210000 01тцш:т.|![р х х х х 158 000

1 943 1 600 (аБ1Бр /\штр}т/ шц црщ1{ 240о 2 40о

19441 ]00 0|т[рБчп1: шц \ч 2000 3 6 000

1 9400000 0!:цтпт|Б[ц х х х х 8 400

1 964 1 000 |1г1р}т чтшр\ 501 шц }ттцтп 700 700

| 9641 000 11цр}т чтпр\ 301 шц [тптп 400 5 2 000

19642200 щп1[: [р[1[0ш1[:0 ршцш0р шц т|Бтпр 200 \4 2 800

19600000 ([цтпт{Б!ц х х х х 5 500

\9721200 Ршп6п ш0рп[р.]ш0 р[1[р /6!ш0 р[1/ шц }ттцтп з00 2 600

\9721200 ршп6р ш0рпгр1ш0 рЁ1[р /ё[-1ш0 р61/ шц Бтцъп 350 2 700

19700000 [[тцтпт{Б!р х х х х | 300

249\1200 !т{пъ1ш}ттш 1лш Бтцшт 1 000 3 1.5 з1 500



2491 \700 цпц|!06' цп1щьц-502 шц }ттптл 2000 2 4 000

24951\30 ш[тф\пь}: алц шц }т-:лтл 60 200 12 000

24900000 [1-тг1тшс![!р х х х х 41 500

зо1'92121 цр},: шц ш:пгф 70 .50 3 500

зо1922з2 {-}\.> шц }ттптп 600 5 3 000

зо1'922з1 [оцаБ ш\п2 шц Бтлтл 500 4 2 000

30192350 а'}ш-ь ёш:чтшт|Ё1: шц Бтцтп 120 40 4 800

з0197100 !шг1-г:1т г|&штпшц ;'ш1 ьш 1-п! 11гшьч!р, т|Б0 шц Бтптл 800 5 4 000

з0197 111 |:тцц1т:1'г г|Бьп ш т1 сш 
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т шц Бтптл 200 ) 600
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гш 1т! 11гш шд!р, т||т2|т0 шц }тц:тл 300 ) 900

з0\97210 фртпчтш[тш\ шц ]пьцгл з00 15 4 500

з0|972з1 $*п- шц }ттцтп 15 200 3 000

з0\9732з !ьцр1:: шц Бтцтл 5600 2 11 200

30 197-51 1 шспт|;-шц:"шрттгтр шц Бтптп 1 000 5 5 000

з0197622 |ёпгца 114 шц тппгф 2000 18 36 000

30 1 90000 01-тцтшт[Б[р х х х х 78 500

302з4300 €)_Р 52х шц }ттдтп 100 8 800

з02з4400 пу)_к шц Бтцъп 100 9 900

зо2з4670 05Б Б}т2пг1пгр3пг1:. шц }:тцъп 2500 2 5 000

30200000 0[цтпт|Б!тц х х х х 6 700

31151|20 ||[пг9т[тл[т тшг1р3пгр (1/Р5) шц Бтцъп 15000 1 15 000

з|22|200 [шцто 0ьр1т [т1ьш0]п\0!р 1, т|т"ш1ш1;"ш140!р {,{| }ттцтл 750 1 750

з|22\200 [шцп9 (! !р]т Б:1ьш0|т\0!р ! г|тп1ш1тл140!р ш1] Бтцъп 500 1 500

з|22|200 [шщ-то 0!ц|: !цтш0|т\0!р 1' т] сш1щъш110|р шц Бтптл 650 1 650

з\22|200 [шртс 0!р]п [цгш0|т\0 Б1: 1, :] гш1щсш!0 !р шц Бтлтл 350 1 350

з|22|200 [ц:што 0!р1"п 0:1гш0 |т\0[р [ ь|ьшщ1гш110Бр шц Бтптл 250 6 1 500

31.21"1400 гш 0 2т-шшл]т2-ч сшшт[т2 шц }тъцгл 550 2 1 100

з122|280 бр\тпртл9т|тп1' т*р}' чф}ч шц }ттптл 700 2 1 400

з|221281 Фрфртпщ1тпштл шц }ттптп 2000 4 8 000

з1321 130 [1Ё\тлртп\тш[ 1тшр шц Бтптл 150 50 7 500

з1410000 |}тпртп\п9 АА А шц Бтпгп 1 750 4 7 000

3 1410000 {_}ш:ртп\п9 шц Бшттп 45о 10 4 500

з|52]'440 !!п[штБш:п}т 1пг3шБр шц Бц:тл | 000 4 4 000

3152\441 5п[тш6штп|т ръ3шБр шш Бтлтл 2000 4 8 000

з 153 1210 [ф\тпртп\тп!т 1тпт|ч 60' 75' 100 шц }:тлтл '100 10 1 000

3 153 1210 [1Б\тлргш\тш[ 1:лъ|щ 1 50 шц !ттлтл 150 10 1 500

3 153 1 210 !ф\тлртш\тп[ 1тяъ|ч 1 00 шц }ттштл 350 30 10 500

31531з00 51ттп[шпц 1в:т{ч[р 15 шш Бтлтл 900 11 9 900

31531300 51-ттл!,шпц 1тпт|ч[р шц }ттлгп 800 10 8 000

3 153 1з0] 5[тпЁ,шп1 1ш:т[чБр 16 т|тп шц }ттптл 3650 2 7 300

315з1302 $[тпБшпг1 1тпт{чЁр 12 т{тп шц Бтцтл 1 500 о 9 000

31651400 0[\пгш}т1 0тшчш:т|Б[ шц Бтдтп 2о0 2о 4 000
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зз7 |1210 |атш9 тп[&Ёпп9[:\ шц Бц:тп !50 2о 3 000

зз7 ||210 11[&[пп9}т\ шц }ттдш: 250 20 5 000

3376 1 000 9птчтпртп[}т Рп1-ца шц Бтцтп 100 300 30 000

33761 100 9пьчъшртп!ш:\п1-тр т{тлррп:1 т[}т2п9!Бр шц !ттптп 500 5 2 50о

з3700000 0!тцтш:_[Б!р х х х х 40 500

з91'5|220 \тпБпт1р}т гш1т[тт| шц Бтцтп 600 10 6 000

з9]15|220 \тпБпь3р}т *ььф ]штл2пт\ шц }ттцтп 8000 8 000

39 1 50000 [[цтпъ|Ё1тр х х х х 14 000

з1 52|240 [шсш:1сш{тр, ф:п2|:14 0!р шц }ттптл 8000 1 8 000

37520000 01тцтпт{!,!р х х х х 8 000

з9221440 т-|п61т0' (!\ьшр2гш\гш0 шц Бтцтп ! 800 2 3 600

з922|440 ф6п0' 011ьшр2тш|1тл0 шц Бтцтп 2700 2 5 400

з922|460 ф6п0' 0!ц\ьш;ттшцьш\гш0 шц Бтптп 500 4 2 000

з9221з5о 1}Б\тш!чтпт|]ц1 очш1пчпр6т|тп! ртш6тш\[!, р шц Бтптл 5 2000 10 000

з922442о :пР\тц1' шц }тц:сп 100 80 8 000

з92245з0 \тпр}т ш:шБц![р шц Бтлтл 10 100 1 000

з924\ |4| '}шт[ъш\ |]ц Бтцтп 360 з60

з924|2|0 {_|\ртшш: 1}ц Бтптл 2000 1 2 000

з924|2|0 {/\ртштп 1}ц }тъшшт 3000 | 3 000

39200000 0[цтшт{Б!р х х х х 35 360

395з 1600 2,тптпш:\|: 6тп6\пь3р 1]ц т|Ётпр2 2000 30 60 000

395з0000 0[т4п_тт|Ё,[р х х х х 60 000

39541 ] 10 0ш:ртш1: шц Бтцтп 200 |0 2 000

3954! 1 !0 |0шртш1-т ртл:'{ртп\1:.ш шц }ттцтл 300 11 3 300

з9500000 |01"тц:шъ|Ё[ц х х х х 5 з00

391\ |220 ||1Б\тлргш\тп! шр6[ф шц Бш:тп 1 700 1 700

з9] \з4з 1 |Фп2Ё\пгф чтшр[1Ёр шц Бц:ъп 2000 2 4 000

39717100 |2пт|}ттшр}т2 1}|1 Бтцъп 7000 7 000

39700000 |0[цтпт.|Б[р х х х х \2 700

398! | 100 | от1|т ртш1:т|сш9ттт9|:201,1: шц Бтцтп 450 4 1 800

шц Бтптл | 400 25 35 000

з9вз |247 
| 
{_,т'}шглгшБтп[тпц Б[цпг\ шц Бштш: 1 000 \2 12 000

3983 !270 ||-!ч::т!ч 1шт| шц Бтдтл 1 500 -) 4 500

]98з |270 |0чп:_1тч 2шт1 шц Бъцтп 2500 з 7 500

з983 ! 970 
| 
(-!чпг!ч 3шг{ шш }ттпгп 3500 2 7 000

398з |280 !цч*\1' ь{гшррБ1пг }т}г1пг\ шц }тьцтп 4)о 4 1 800
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39800000 |0!'тцтпт-|Ё!р х х х х 76 000



44 | 00000 /[0 ьшртш 1-пгш [1ц ш ш.| п 1.Р п 1.: ш !1]'ц ц!"ц ц1 1['
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44]1| |4|о ъБр\ьц шц цРщ{ 50000 50 000

44\ \ \42\ Ф110ш0.1111'р (!птъг) шц +Рц1{ | 7000 1 17 000

44\12650 г{ьшртшщ-пт .11т0!р|т \тш[ш[т20[ц шц Бъцтп 40 40 1 600

441 |27з0 9ш:рпг1 ш\тшт|ш:птп\ фпрр шц Бт.цтл | 750 ! 1 750

44| 127зо \тпрпг1 ш\тлт|тшптп\ фпрр 1]ц }ттптп 500 2 1 000

441 19100 |,,ррьшштш}штптш\ 1 0т(т1 шш Бтпгп 7500 7 500

441 19100 !рртшшттп}шъптш\ 1 5 т1т| шц Бтптп 8500 8 500

44119100 !рртптптп}шъптш\ {т|т[ шц }ттптп 4600 2 9 200

441 19100 !р ртшъп тш}штпъш\ 6 т{:'| шц Бъцтл 6000 4 24 000

441 19100 Фшт1тпЁ !пРцпг шц чь:.| 600 40 24 000

44\92\00 щп[:ф0]трцтр|т:1]т (ртс) фцф:ттр шц }ттпцп 950 950

44|63100 [шпцпт|:.ш\ |лш ць{ 600 30 18 000

44\926\0 шь}, шц \ч ! 000 4 4 000

441927о0
11ббфгш чцш п|т ц, ш ь11 ц|ц|1|ц111ц ц1.ц ц

''-^|.''''_'''с^пь'.ъ |.''':{:::;т
шц Бтцтп 2200 1 ! 2200

44192700
ттшцщ|.|'цът'г;т ь11ц!.:л1.г|"ц1)!ц ц]-ш ш

... ^ь.''''_''' с'^1!Ё'.|' |'т' :::\: :: ::
шц }ттптп 500 1 500

44]'9270о
тБтц!ц ц|1цьтщ' (-г [1п 11тшцьш р 1ц ц|ц ш

..^ь'''''_'''п^сь'.]: |:т:::|;;;::
шц | Бтцтп 400 1 400

44192900 2]"цф|т2 ргш0п0, 2|т0гшрьшрьш\тш 0 шц Бтцтп 1 000 2 2 000

441 00000 0[цтшт^|Б1-тр х х х х 181 300

4441оооо цп!чшпш0ш!п0р[ !шфшп[: шц Бтцтп 2150 2 150

0[цтшт[Б[р х х х х 2 150

44500000 оььь /чЁгпф/ шш цр1ц1| -5000 ! 5 000

44530000 ьшт|1:;-ш9 0тт:-1 ц!ш-тгш1 0 !ц шш цг'ш{ 1 4600 1 14 600

445 1 ] 330 9прБ[тр[[р шш црш{ 1 0000 ! 10 000

445 1 ] 330 щшт::: штгп[1ьш|тгш 0 0 !р шц црш{ 450 2 900

445\|2о0 | 61,::р|т ш:1тт9[!1: шц цР1ц1! 750 750

445 | ] 210 | 6!;:р|т шп1п9(|[1:|: 2[:1р[1:. шц цРц1{ 250 ) 150

445|г|26(] !1т:1!гшр:т::р
шц т{Бтпр 1,5 800 1 200

44511270 т|:тг1т6!р шц }ттцтп 1 600 | 1 600

445|: |з40 | с1тш31|:14:т0|п шьш.1р[1: шш цРш{ 8000 1 8 000

445 1 1350 | щш:::шгш|1:"ш1:гш00!1т|: штш.11:!р шц Бтшш, 450 4 1 800

4452|: |50 | !ьш1тт::.;р|т фьш|1гш1!1!|,1: шц Бц:тл 500 10 5 000

4452||20 |}пг1ь1т|т фш!гш[ шц }тцттп 900 900

4452| |20 |'-|-п0[1т1т г|тгш\гш0 шц Бтцтп | 800 2 3 600

4452||20 |+ппьр1т фсш!;тш0
шц Бтцтп 4600 1 4 600

445 1 ] 700 |!тьш1:ргш2т:т 1:р
шц Бтцтп 1 900 ] | 900

..', *, 1чч1: 1|]]]]'. }]11[]}:'*5'}}-' шц црш{ | 0000 ] 10 000

44551 100 |'т-ппьрр фтш!ьш0|т т!|т2ттт11 1гц Бьцтп 2400 2 4800.

44500000 |0!цш:ъ[[[р
х х х х 75 400

..в "'ш п:у|1:::':.1::':::,'''"*" шц цР1111{ 6000 6 000



44820000 ш!Рьц шц цр1п!{ 1 0000 1 10 000

4483 1 500 [пгБ[:2 шц Бтцтп 600 5 3 000

44800000 [[ц'тпт|[[р х х х х 19 000

44921500 0 [фьшт|ьш0|'п11' ч|тщшгш1|:0 3 0\ч 1'1] Бтптп 2800 2 800

44921500 0!фтлъ|:"ш0|т11' ч|тщшьш1|'п0 3 0\ч |]ц !ттптл 4800 4 800

44921500 0 !фьшс|тш0|т|1' ц]тщшьш:!0 301по шц !ттптл 5600 5 600

44900000 0!тцтпт|Б!тр х х х х 1з 200

2. 0тпптш1пгр3пъ!!Ёр 5 107 400

45400000
ь шР ь1!|1 ч!'ц1п1[] 9 ц ц111} |1 ш{о !'ц9|1Р ц{111{1Р{1[ц
-_-_!_-_-_-5_-_ _ г

шц цР1ц{г 1 50000 1 150 000

45400000 01тцтшт{Ё!р х х х х 150 000

503 1 1з00 2,'}ш-ь шчш:штпр\птт{ шц цРц1{ 14400 | \4 400

503 1 1 з00 0фтшъ|[!ц х х х х [4 400

5041 1 190 2тш\тш}трц[}ттп3}т[ 6тпптп3пър3пт1: шш цРц1{ 60000 | 60 000

50400000 0[цтпъ|&1-тц х х х х 60 000

501 1 1260
ц[цчц||!шчщц цш1!уц||1! чц!!щц.|1ш|ч шц цРц1!{ з0000 ! з0 000

50500000 |[4ш:т{Б[р х х х х 30 000

6о2з\20о
о [ | !!, ш ц щ г ! | ! ц ] |.,-!.] [ ! ц ч | ! ! 

| 
ц !!.] | }[ ! ц !|, ц

!..'* /\ 1 1с /
|]ц црш{ 300000 1 з00 000

60200000 0!:цтпт|Б1тр х х х х з00 000

6з511200 5пт-|ш[р}: т|шт6тшпр}т т1}т2[:прцш:т|6тпр шц цРш1{ 780 000 1 780 000

6з 500000 0\тшт1[!р х х х х 780 000

64211100 1{рп[Ёт1Б[ъпп:3[т1"т шц цр1ц1{ 1 15200 | 1 15 200

6421 | \0\
|.] р2р11111цр111]р ц ц {цпц11| ч9п1Р]п|ш ц прр шц цРц1{ | 7000 1 17 000

6421л02 2тпъ|тп9тп[9 / }:|ттпЁр[[тп/ шц цРш{ 8000 \2 96 000

64200000 0[цтшт1Ё[р х х х х 228 200

651 1 1 100 9ртпт-|тпштш\тпртпрпг! шц цРц1!| 30000 з0 000

65 1 00000 |[цтпт|Ё!:р х х х х 30 000

653 1 1 100 | 1Ё\тпртп[[[рч}'* шц цРш{ 8 | 5000 8|5 000

66500000 (\тшт{Б[р х х х х 815 000

66111200 Ртп[\ тп3 }[ Бъшпшт3птр1пт1: шц цр1п1[ 2-5000 | 25 000

66100000 0[цтшт|Ё[ц х х х х 25 000

72211174 20 шчтшшш:р\т_|тп[ Бтппш:1пгр3пг|т шц цРш{ 1 04800 [ | 04 800

72200000 0[цтпт1Б[ц х х х х 104 800

19з41 |з0 9пт]тпчцтш1}т[ 6тшпшт1пгр1пт[ шц цРш{ 200000 200 000

79300000 0[цтшт|Б[р х х х х 200 000

796з 1з00
]-ц2рц1!лш ч!'шчц11 ч!'!]]1ц1ш9ш|1' ц
!,,-.^--- ----.- ---- 4 /:!-.- шц цРш{ 50000 50 000

79600000 01-тцтшъ|Б[ц х х х х 50 000

79820000 5чтпчрпгр3пг1: шш цг1ш11[ з00000 1 300 000

79800000 0!.:цтпт{[[р х х х х з00 000

19991200 ъьрр}т[ чпр6пъцпгт[!тБр шц цг'ц1{ 400000 1 400 000

79900000 |[цш:т{[[ц х х х х 400 000

9051 | 100 11;ц |: !:гшт| тшр0 гш 0 0 ;"ш::гш'; пгр.1 ::г 0 0 Бр шц 4р1п1' 20000 20 000

90500000 0[цтшг![[ц х х х х 20 000

923 1 | 160 2ш:3Бф[:[тп\ |]ц цР1ц1[ 1 600000 ] 600 000

92300000 0[цтпт{Б[р х х х х ] 600 000

[фш:т|Ё1тр х х х 6 2',14 460


